
New Balance summary

• New Balance strategy and example of 

integration and fit

• Differentiating by operations in a 

commodity

• Competing on availability – tradeoffs with 

cost

• Strategic implications of JIT and lean 

operations



New Balance strategy

• Performance and fit (availability)

• Role of workforce

• Focus on retailer

• Process flexibility 

• Process proximity

• Tradeoff of manufacturing cost and 

inventory
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Planning and materials (and in particular lean) 

are crucial strategically for two reasons

• They can fulfill specific goals (eg. 

availability and responsiveness)

• They can be the focus of performance in a 

specific area  (e.g. JIT can be the basis of 

performance goals)



Planning for responsiveness

• Small batch sizes

• Capacity (design and production)

• Inventory positioning (postponement)

• Proximity



Why is JIT still relevant

Amount worked on plus 

Buffer is fixed

Empty cart signals

New order



Why is JIT (and lean) still  

relevant?
• It is more than just a planning or control system

• It is a complete system of manufacturing management and 
has changed the basis of competition

• It affects a large number of strategic measures (quality, 
waste, turnover, productivity)

• It can be the basis of a change in strategy or focus on a key 
goal

• The historical record is clear (even today) 

• The historical record relating inventory turns and cost is 
particularly startling.



But what is required?

• Leveling and predictability

• Rationalization of inventory locations

• Teamwork and synchronization

• Proximity

• Focusing on flow and not inventory

• Sharing benefits and improving entire 

supply chain, not making it adversarial



The strategic impact of JIT:
How does inventory affect efficiency?
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As inventory decreases, efficiency goes 

up significantly

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1.0

E
st

im
at

ed
 te

ch
ni

ca
l e

ff
ic

ie
nc

y 
re

la
tiv

e 
to

 fr
on

tie
r

Year

+

+ +

+ +

+
+ + +

+

+

+

+

+
+

+ +

+
+

66 68 70 72 74 76 78 80 82 84 86 88 90 92 94 96

GM Ford Chrysler

+

Toyota Nissan Honda + Mazda

+
+

+
+

+
+

Daihatsu Fuji Isuzu Suzuki

GM

Toyota

Image by MIT OpenCourseWare.



MIT OpenCourseWare
http://ocw.mit.edu 

15.769 Operations Strategy
Fall 2010 
 
 
 
For information about citing these materials or our Terms of Use, visit: http://ocw.mit.edu/terms. 

http://ocw.mit.edu/terms
http://ocw.mit.edu

